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Write an explicit and recursive rule for the following
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3. Find the 12t term of the geometric sequence 5, 15,45
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4. 1f the first three terms of a geometric sequence are 2 12, and 48, whatis
the seventh term? ;
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Find the stated term for the following sequences
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Evaluate the following : {
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13. A geometric sequence that has an initial value 2, ends with -4374 and has 2
common ratio of -3, how many terms are in q‘le sequence?
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Find the domain and range for the following functions
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Graph the following and label any asymptotes or intercepts
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Answer #19-21 with the following: an investment of $2000 that earns 3.4% interest

19. Write an equation to describe the value A(t) ofthe mvestment at time t if the
interest is compounded monthly e T nk |
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20. What is the value of the investment after 10 years 1f compounded monthly7
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21. About how long would it take for the mvestment to reach $10 000 if the interest
is compounded monthly? C—vraph , Cnangg
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22. A melting snowman is losing one-half of his weight each day. He or 1gmally
weighed 128 pounds. Assuming that the outside temperature stays the same, how
much does the snowman we1gh after 5 days?
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23. A car with a cost of $25,000 is decreasing in value at a rate of 10% eacfx year.
The function g(t)=25000(0.9) gives the value of the car after ¢ years. When will the

value of the car be about $12, 0007 2 h, thange wWinc ow
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 situation is P(t)=5000e>**, where t
opulation at time ¢.




